


9. Hamilton's canonical equations of motion for a conservative system are

a g =M . _ oM Bi o = O o O
5 " 2" 2% d ' - o
T X i
A = o1 . N
q: am-pl a4, gl ap; P aq

10. A constant force F is applied on a relativistic scalar particle of mass m. If the particle is at
rest at t=0, then the velocity at any instant will be

LR . 1 b, =22
VFtZamic? VEIt  mee?
(o L S ol DR
VFZcTtEam? VFEamic?
11. The angular momentum in two body problem is
d. pp =yr0 b. Pe = H ré?
C.pg =purio d. pg=pur? /o
12. If a dynamical variable F is explicitly independent of time t, then the variable satisfies
ITT el b. Bl b
(H.F) dt {1, F) dt
¢. {F,H}=1 d. {F.H}=0

13. A charge particle q is moving in an electromagnetic field with a velocity v. The generalized
potential U is-

a ot 1 i
a. qd)—;(l\ V) b. -ﬁ;;-((] D~ :(1\ V)]
e d. feh)

2Zm q * 1

14. Two photon approach each other. Their relative velocity will be

a.0 b. ¢
. 2c d. -c

15. The Lagrange’s equations of molion are second degree, then the degree’s of freedom will

be?
a. 2N+1 b. N
¢ 2N-1 d. N+l
16. The generalized coordinate g, of a classical system with Lagrangian L is said to be cyclic if
o -
dae Tk dax
T (v e 5
dqn Gt 0qx Aqi
17. The kinetic energy of a particle moving in free space is
A T= %m (P2 +r202+2?) b. T= :} m( 2+ 12+ ?)
¢ T= %m (F2+0%+2%) d T= %m( r2g2+z2)
18. The rocket ship contracted to its length by 99%_Its velocity will be
a. 0.1c b. 0.2¢
¢ 03¢ doe00e
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19, The Hamiltonian H is in general
a. H(gq.p.t) X
c. H(q,p.t)

20. The value of the bracket {4, {B, C}} + {B, (¢
a.0 - e
c-1

Time : 2 hrs. 30 mins.
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